COMMON ENTRANCE TEST 2007

09-05-2007 | BIOLOGY | 04.00 PMto 05.20 PM

60 | 80 MINUTES | 70 MINUTES

A-1 | 184241

IMPORTANT INSTRUCTIONS TO CANDIDATES
(Candidates are advised to read the following instructions carefuily, before answering on OMR answer sheet.)

1. "Ensure that you have entered your Name and Register Number of 2“d PUC Annual Examination / 12th Std. in the '
space provided on the OMR answer sheet.

2. Ensure that CET No. has been entered- and shaded the respectwe circles on the OMR answer sheet

3. . ENSURE THAT THE TIMING MARKS PRINTED ON THE OMR ANSWER SHEET ARE NOT DAMAGED '
: /MUTILATED / SPOILED. . :
4. This Question Booklet is 1ssued to you by the invigilator after the 27 Bell. 1. e, after 04.00 p.m. .
5. Enter the Serial Number of this question booklet on the OMR answer sheet.
6. Carefully enter the Version Code of this questlon booklet on the OMR answer sheet and SHADE the respective

circles completely.

7. As answer sheets are de51gned to sult the Opt1ca1 Mark ‘Reader: (OMR) system, please take spemal care while
filling and shading the CET NO. & Version Code of this questlon booklet.

8. = DONOTFORGET TO SIGN AT THE BOTTOM PORTION OF OMR ANSWER SHEET IN THE SPACE PROVIDED. - ..
. 9. Until the 3" Bell is rung at 04.10 p.m. ) _
® Do not remove the seal present on the' right hand side of this question booklet. : 3
® Do not look inside this question booklet. . : ' ' i ; G@ ﬂ_j
® Do not start answering on the OMR answer sheet. ' ’ N i
10.  After the 3% Bell is rung at 04.10 p.m., remove the seal present on the rlght hand 51de of this questlon booklet ahd
start answering on the OMR answer sheet.

"11.  This question booklet contains 60 questions and each questlon will have four different optlons /choices.

12.  During the subsequent 70 mmutes
®  Read each question carefully.
® ' Determine the correct answer from out of the four-available options / choices given under each question.

. Completely darken/shade the relevant circle with a BLUE OR BLACK INK BALLPOINT PEN
' against the question number on the CMR answer sheet.

CORRECT METHOD OF SHADING THE CIRCLE ON THE OMR. SHEET IS AS SHOWN BELOW

[0]o] o8

13. Please note that even a minute unintended ink dot on the OMR sheet will also be recognised and recorded by the |
' -scanner. Therefore, avoid multiple markings of any kind on the OMR answer sheet.

14.  Use the space provxded on each page of the questlon booklet for Rough work AND do not use the OMR answer
sheet for the same. . °

15.  After the last bell is rung at 05. 20 p.m., stop wrmncr on the OMR answer sheet and affix your LEFT HAND
THUMB IMPRESSION on the OMR answer sheet as per ‘the instructions. . . v

"16. Hand over the OMR ANSWER SHEET to the room invigilator as it is.

- 17.  After separating and retaining the top sheet (CET Cell Copy), the 1nv1g11ator will return the bottom sheet repllca
. (Candidate’s copy) to you to carry home for self-evaluation. .

18.  Preserve the replica of the OMR answer sheet for a minimum per1 iod of Oné year.
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v1. The terms ‘cyto"plésm’ and ‘nﬁc-lebplasm" were givén by
, 1) "B_rown ' .7 . .2) Flemming
3) Purkinje - DRI o 4) Str’a‘sbuxfger‘

2]

2. Which of the_'following'.exp,eri‘ment‘is ca;lled physiological demonstration of Osmosis ?

1). Potometer. _ T
- 2) Bell jar experiment |

3) Thistle funnel - whose mouth is tied with egg membrarie.\

' 4) Thistle funnel - whose mouth is tied with parchment paper.

3. _The net gain of ATP during glycoiysis is I
1) Two - . 2) Four
- 3) Six R . 4) Eight

4. Coronary heart disease is due to _ y
| 1) Weakening of the heart valves. -
2) Insufﬁ(_:ie‘nt blood supply to the heart muscles. -
-3) Streptococci bacteria. | .

4) Inflammation of pericardium. "

5. Manas sanctuary is loc'ate‘d at -
‘1) Bihar. | ; 2) Gujarath
 3) Rajasthan = : - 4) Assam

. (Spacé for Rough Work)
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6. .In whic.h' of the ‘following organisms, self fertilization is seen ? .

"1) Earth worm ~ . 2) Liver fluke
8) Fish ' o : 4) Round worm
7. Rauwolfia - serpentina belongs to ................ . family.
1) Liliaceae . ~ 2) Fabaceae
3) "Apocynaceae 4) Solanaceae

| eytof -
‘ (P680) | \@—9 PS 1

4e” -

| 2H20<

1

4H++02 ‘

~ In the above.sche__matic'diagrani,-which is plastocyanin 7.

A - ' 2) B
»co 49D
9. In ABO blood groups, how many phenotypes are found ?
D1 o 24
3) 6 | 4 8

10. The tumor mducmg capacity of Agrobacterium - tumaefac1ens is located in large extra
chromosomal plasmids’ called : :

1). pBR 322 ' S - 2) Ti plasmid
3) Ri pla‘smld S - 4) lambda phage

(Space for Rough Work)
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11. Name the class of the - Mycota, whi_ch is cornmonly called - ‘fungi imperfecti’. -

1) Zygomycota E ‘ ' 2) Basidiomycota

3) Deuterornycota ' 4) Ascomycota

12. Which one is not correct about Krebs’ cycle ?

" '1). It occurs in mitochondria. -

2) It starts with six carbon compound. - |
3) It is also called citric acid cycle.
4) The mtermedlate compound which links glycolys1s Wlth Krebs’ cycle is malic aC1d :

13. Whlch would do maximum harm to a tree ?

14.

1) Loss of all its'bark. . " 2) Loss of half of its leaves.
3) Loss of half of 1ts branches 4 Loss of all of its leaves.

By RA Right Aurlcle |
RV - Right Ventncle

LA - Left 4Aur1c1e

LV - Left Ventricle'

\,
N _' . . \

~ In the above given dlagram which blood vessel represents vena cava ?

DA "2 B

»c . @D

15. Rh - ve person donated blood to Rh +ve person for the second tlme Then _

4) Nothing happens to Rh +ve person

1) Rh +ve blood starts reacting to Rh —ve blood.
2) Rh +ve person will die.

@ -

3). Rh —ve person will die.

SR -1
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16. Checklng of reradxatmg heat by atmosphenc dust 03, Co, and water vapours is—

1) Ozone layer effect =~ 2) Radloactlve effect
3) Green house effect o 4) Solar effect

17, Mutatlon can not c]hange

18. L1berat10n of O, when green cells in water are exposed to sunhght in the presence of

1) »Enzyr_ne » o 2) DNA '

3 RNA 5 . 4) Environment

su1table acceptor is called —

1) Blackmann’s reaction ~ 2) -Hill’s‘reection

3) Arnon’s reaction ~ 4) Emerson’s enhance effect

19. Guttation is mainly dfle to

1) Osmesis - - . 2) Transpiration

" 3) Root pressure .. 4) Imbibition

- 20. e Statement A :AAI‘I Metdtherian are plaeental mamnials.

) 'Statement B: A‘ll vplace'nt‘al maminals have menstrual‘cvycle.}

1) Both the statements A and B are true.
- 2) Both the statements A and B are false

3) Statement A‘is true and Stetment B is false. -
" 4) Statement B is true and Statment A is false.

SR-1 -
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22.

23.
- and his mother is blue eyed what would be the phenotype of his father ?

24.

25.

T o aa
Population density of terrestrial organisms is measured in terms of individual per‘:
‘1) Meter - 2) Metey? |
3 Meter®. 4 Meter*

: Nltrogenous waste products are ehmmated mainly as —

1) urea in tadpole as well as 1n adult frog.
2) urea in tadpole and ammonia. in adult frog.
3) ureain ‘tadpole and urlc acid in adult- frog

4) urea in adult frog and ammoma in tadpole

In man, the blue eye colour is recéssive to the brown eye colour. If the boy has brown 'e_ye

1) Green eye . . . 2) Blue eye .
-3) Black eye B _ R _4) Brown eye

\

Munch hypothe51s 1is based on A
.1) Translocatlon of food due to Turgor Pressure (TP) gradJent
.2) Translocatlon of food due to imbibition force.
3) Translocation of food due to TP gradlent and 1mb1b1t10n force.
4 None of these

~

Interferons are ‘ , » _
1) Complex protein . 2) Anti-clotting pro'tein..
' 3) Anti-bacterial protein .4) Anti-viral pfotein. |

<7

(Space fgr Rough Work)
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26. In the aiagrarﬁ'of lenticel -

eidentify the parts as A, B, C, D.

v“ .

' 1) A-Complementary ceHs,_B— Phellogen, C—.Phelloderm, D- Periderm .
2) A- Complementary cells, B—’Ph‘eﬂum, C- Periderm, D— Phelloderm
3) A- Phellum, B— Periderm, C— Phellogen, D— Phelloderm
- 4) A~ Phellum, B~ Complemenfary cells, C— Phellogen,-D—\ Phelloderm-

o

27. .Sterlization of tissue culture medium is done byv'—
1) Mixing.the, medium with antifungal agents. -

>2)A~ Keeping the medium at - 20°C.

.3) Autoclaving of medium at 120°C for 15 minutes. .
~4) Filtering the medium through_'ﬁne sieve. .
28. Match the following : L

A.  Leishmania — dorovani

p.” Malaria

Wuchereria — bancrofti Q. .Amoebiosisv.-
S .

S

t

B.
C. Trypanosoma — gambiensé - - . Kala azar
D

Entamoeba — histolytica . Sleeping sickness k

S . Filariasis
1) A-r B=t C-s D-q- 2 A-r B-t C-q D-p |
3 A—s B-r C-q D-p 49 A-r B=s C-t D-t :

| 29. . The idea of Natural selectibn as the fundamental process of ‘évolutioﬁary changes was
reached - o :

1) Indepen’dently by Charles Dax;wi_n and Alfred Russel Wallace in 1900 -
2) By Charles Darwin in 1866. =~ o o
_ '43) By Alfred Rﬁssel Wallace in 1901. ° § ‘

* 4) Independently by Charles Darwin and A].ﬁ"ediRussiél Wallace in 1859.

'30. Auxins originates at the ﬁp.of the stem and éontrolsgrowth elsewhere. The movement
of auxins is largerly . .. _ _ : ‘
1) Acropetal_ahd basipetal 2) Centropetal
3) Basipetal v " 4) Acropetal -

(Space for Rough Work)
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32.

33.

. 34.

35.

9 . A

If a length of DNA has 45 000 base pairs, how many complete trans will the DNA molecule
take ? _ L ‘ :
.45 o 2) 450
3) -4,500 o . 4) 45, 000

The process in wh1ch mature differentiated cells reverse to menstematlc activity to

form callus is called . , N 4
1) Cyto differentiation ' ‘ - 92) Redifferent_;,iation

3) Dédifferentiation v ~ 4) Differentiation

The lateral roots or1g1nate from ‘ _ | -
1) Eplblema -~ 2) Cortical cells below root hairs”
3) Endoderm cells - 4) Peficycle cells R ,

Which accessory gemtal gland occurs only in mammahan male ?
1) Cowper’s gland S 2 Barthohan gland
3) Prostate gland o 4) Permeal gland

When the concentratlon of the so11 solutes is low, the absorption of water is
1) Increased S ... 2) Decreased -
3) Remain normal - ..4) Stopped

\

(Space for Rough -Worl()
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Edaphology is e »
| 1) Study of Snakes . - 2) Study of Amphlblans
3) .Study of Elephants _ ' 4 None of these
'37. Pineal gland of human brain secretes melatomn concerned w1th
- 1) Colouratlon of skin , 2) Sleep o
3) Anger L o - 4). Body temperature .
'When a tall plant W1th round seeds (TTRR) ‘crossed w1th a dwarf plant with wrinkle R
- seeds (tfrr). The F generation - consists of tall plants with round seeds. What would be
the propor’clon of dwarf plant with wrinkle seeds in F, ‘generation ?
oo ) 2)/_; e
39. Cell wall cons1sts of-
4 Bl ngmn hemi cellulose pectm and 11p1d .
2) ngmn, hemi cellulose, pectin and‘cellulose
3) Lignin hemi cellulose, protein and. lipid ’
4) Hemi cellulose, cellulose, tubulin and lignin. .
' 40._ The post and"tail is present in — L _
1) Invertebrates . - C - 2) Vertebrates
-'3) Chordates - S '4) 'In all of them
i (Sp'ace for Rough Work) . -
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41. Synthe51s of food in C, pathway occurs in Chlorophyll of
D Spongy mesophyll B - 2) Pahsade cells

3) Guard cells .-~ .4) Bundle sheath

. 42. The" sequence of structural gene in Iac operon concept is

,1) lac, lac Z, lac A R 2) lacZ,lacy, lac A
/ 3) lac A lac. Y lac Z » -~ 4)lacA, lacZ, lac Y
43, Pericarp and placent;ae are edlble part of s1mple fleshy berry fruit . v A
1) Tomato o .. "2) Date palm- ' o
3) Jack fruit - e ©4) Banana '

' 44 In the dlagram Wthh of the followmg proceeses are shown in Amoeba ?

I Sohdfood |
' d ) l, Food vacuole |

Residue of L
undigest -food '

o

Molecules in solution -

<l1) Phagocytosis — o 2) Pinuocytos'is‘,
3) Exocytosis - ' L 4) All of these'

45. An essential clement is that Which_'
| 1) is found in plant ash.
2) is available in the soil.
3). 1mprove health of the plant. .

4) is 1rrep1aceable and mchspensable for growth of plants

A/

‘ (Space for Rough Work) _
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46.

47.

48.

49

50.

S T W

Nucleic acid occurs in

1) Cytoplasm = _2) Mitochondria and chloroplast
3) Golgibody - S ‘ Lysosomes.
- The number of mitotic cell division. required to produce 256 cells from smgle cell would
be , o
16 I 2 8
3) 10 o S 4)_.12“ '

The central dogma of protein synthes1s in termmous is
"~ 1) DNA —DNA —->m—RNA - Protem
"2) m~RNA —g.RNA — DNA - Pro tein.
3) gRNA—DNA —>m-RNA - Protein
4) DNA - G—RNA —>m-RNA - Protein

In tlssue culture roots can be mduced by

Y] No cytokmm and only auxins. 4
2) ngher concentration cytokmm and Iower concentration auxins.

3) Lower concentratlon of cytoklmn and hlgher concentratlon of auxms.

Qo

4) Only cytoklmn andl no auxins.

\lﬂ”‘ﬂ)hlm

D
Vajma. ’
1) ‘A—- uterus B— uterine cavity, C- ov1ducal funnel, D- ovary
) A~ cervix; B uterine cav1ty, C- falloplan tube D-. ovary .
3) A- ov1duct B- uterus, C- outduct D- ovary ’

4) A- qemx, B- uteru_s, C- ovary, D~ tumour

R (Spece ‘for Rough Work)
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55.

Non keratimised stratified epit_helium occurs in

13 . . . Al
A ., . ' ' - ) -
The ﬁrst process by which water enters 1nto the seed coat when a seed is placed in

sultable env1romnent for germmatmn is.

1) Absorptlon S B 2) Imbibition e
3) Osmosis L - | 4) 'Active ‘transportb
....... e is a taxon which is hkely to move into endangered category in near future if
condltlons prevail ‘as it is -+ o !
' 1) Rare : , ) - 2) Extinct
3) Vulnerable = o 4) Endanger

Alocalised mﬂanimatory response appears at the site of infection causes redness, swelling,
pain and heat due to certain chem1ca1 they are :

1). Histamin and cerumen 2) Prostaglandlns and cerumen

3) Hlstamm and prostaglandins ~4) Cerumen and mucus.

1) Vag1na and cervix . , 2) Buccal cavity and anus

3) Vaglna cervix and buccal cav1ty 4) Vagina, cervix, buccal cav1ty and anus

Succus en,terlcus is secreted by ? ‘ . v
1) Crypts of Leiberkuhn = - ~ 2) Brunner’s gland
3) - Both (1').Aand (2) _ 4) None Aof these

('Space for Rough Work)
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56.
© B9,

58,

: 59:

80.

14

‘Residual volume is

1) Greateij than vital capdeity ’
 3) Lesser than tidal volume.

Find the odd example.

1) Sea cucumber

'3) Sea lily

Whlch one is correct ?

2) Greafer than ﬁdé.l voiume,

4). Greater than'vinspiratory volume.

2) Sea urchin"

" 4) Seafan

1), Neuron = Cyton + Dendrlte + Axon + Synapse
2) Lymph Plasma + RBC + WBC ‘
3) Bloodl Plasma + RBC + WBC. + Blood platelets

: 4) Plasma = Blood - lymphocytes

In the glven dlag_ram name the parts A, B, C andD. " S . BN

1) A— Intme B- Exme, C- Germ pore, D— Generatwe cell, E— Vegetative cell

2) A- Exine, B— Intme C- Vegetatwe cell D- Germ pore E— Generative cell

3) A- Germ pore, B- Generative cell C- Intine, D- Exme E- Vegetatwe cell

’ "4) A~ Germ pore B- Generatlve cell C— Exme D- Intine, E- Vegetative cell -

The largest RBC s have been seen in .

D Amphlbla '
3) Elephant

© 2) Man
4) Whale

- (Space for. Rough-Work) .
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